R4 MRZEHERO—E

(BEx14-1)

X__Jii ] WyJsr IE | WOEmRREERE L = B Z- Go U= 0.60 |
2 W R 2002 W HFEEEZ= 1.00 | HEBEFRIEG= 1.00 | W&V~ 1.00 FEAFFRIET= 1.00
G ’ s
i (G gy | e[ e | m | s | L (ows| oo |EE]
0.80 | 0.988 - - - - | 0.527 0.527 [0.659 [0.300] 0
1.00 1.335 - - - - | 0.890 0.890 [0.890 [0.300| 0 O
G| 1.50 0.627 - - - - ] 0.626 0.626 |0.418 |0.300 | 2
a6 | o.67 1.75 0.366 - - - =] 0.427 [ 00 [0:427 10.244 ]0.300 | 2
2.00 | 0.244 - - - - | 0.327 0.327 [0.163 [0.300 | 2
1.50 | 0.627 - - |1.000 |0.762 | 0.807 0.807 [0.418 [0.300 | 2
WX 1.75 0.366 - - 11.000 | 1.023 | 0.805 0.805 |0.244 |0.300 | 2
2.00 | 0.244 - - [1.000 |1.135 | 0.825 0.825 [0.163 [0.300 | 2
0.80 | 0.600 - - - - | 0.384 0.384 [0.480 [0.300 | ©
1.00 | 0.675 - - - - | 0.540 0.540 [0.540 [0.300| © @)
.| 1.50 | 0.140 - - - - | o.168 0.168 [0.112 [0.300 ] 5
G
1.75 0.104 - - - - | o0.145 0.145 [0.083 [0.300 | 5
or | 0.80 2.00 | 0.072 - - - = | 0.115 f, o[ 0115 0.058 |0.300 | 6
2.25 0.016 - - - - | 0.030 0.030 [0.013 [0.300 ] 8
1.50 | 0.140 - - |1.000 |0.567 | 0.484 0.484 [o0.112 [0.300] 5
W 1.75 0.104 - - [1.000 |0.597 | 0.499 0.499 [0.083 [0.300] 5
2.00 | 0.072 - - [1.000 |0.623 | 0.512 0.512 [0.058 [0.300| 6
2.25 0.016 - - |1.000 |0.664 | 0.531 0.531 [0.013 [0.300| 8
0.80 | 0.668 - - - - | 0535 0.535 [0.668 [0.300] 0 @)
) 1.90 0.300 - - - - | 0.300 0.300 [0.300 [0.300] ©
11000 1.20 | 0.009 - - - = ] 0.011 f, 00 0-011 0.009 ]0.300 | 14
1.40 | 0.002 - - - - | 0.003 0.003 [0.002 [0.300 | 15
(@)t 1.20 | 0.009 - - |1.000 |0.291 | 0.291 0.291 [0.009 [0.300 | 14
1.40 | 0.002 - - [1.000 |0.298 | 0.298 0.298 [0.002 [0.300 | 15

DWE A




R4 MRZEHRERO—E

(BEx14-1)

X__Ji ] Wi B | BEMEEEERE L = E- Z- Go U= 0.60 |
2 W R 2002 W HFEEEZ= 1.00 | HEBEFRIEG= 1.00 | W&V~ 1.00 FEAFFRIET= 1.00
G ’ s
i (G gy | e[ e | m | s | L (ows| oo |EE]
0.80 1.042 - - - - | 0.556 0.556 [0.695 [0.300 | 0 O
1.00 1.204 - - - - | 0.803 0.803 [0.803 [0.300| 0
1.20 0.682 - - - - | 0.546 0.546 [0.455 [0.300 | 3
G| 1.50 0.640 - - - - | 0.641 0.641 [0.427 [0.300] 3
1.75 0.426 - - - - | 0.497 0.497 [0.284 [0.300 | 3
v | o067 2.00 0.271 - - - - | o0.361 1,000 0.361 [0.181 [0.300 ] 3
2.25 0.021 - - - - | o0.031 0.031 [0.014 [0.300 | 7
1.20 0.682 - - [1.000 |0.573 | 0.667 0.667 [0.455 [0.300 | 3
1.50 0.640 - - [1.000 |0.624 | 0.764 0.764 [0.427 [0.300 ] 3
@ 1.75 0.426 - - 11.000 |0.840 | 0.748 0.748 ]0.284 10.300 | 3
2.00 0.271 - - [1.000 |0.984 | 0.749 0.749 [o0.181 [0.300 | 3
2.25 0.021 - - [1.000 | 1.188 | 0.793 0.793 [0.014 [0.300 | 7
0.80 0.620 - - - - | 0.397 0.397 [0.496 [0.300 | 0 @)
1.00 0.610 - - - - | 0.488 0.488 [0.488 [0.300| ©
1.10 0.199 - - - - |o.174 0.174 [0.159 [0.300 | 2
G| 1.20 0.188 - - - - | o0.180 0.180 [0.150 [0.300 | 2
1.27 0.130 - - - - |o0.133 0.133 [0.104 [0.300 | 2
o |00 2.00 0.094 - - - - | o.150 1,000 0.150 [0.075 [0.300 | 2
2.25 0.010 - - - - | o.018 0.018 [0.008 [0.300 | 5
1.10 0.199 - - [1.000 |0.436 | 0.390 0.390 [0.159 [0.300 | 2
1.20 0.188 - - [1.000 |0.455 | 0.406 0.406 [0.150 [0.300 | 2
@ 1.27 0.130 - - 11.000 |0.511 | 0.430 0.430 ]0.104 |0.300 | 2
2.00 0.094 - - |1.000 |0.542 | 0.459 0.459 [0.075 [0.300 | 2
2.25 0.010 - - [1.000 |0.604 | 0.483 0.483 [0.008 [0.300 ]| 5
0.80 0.664 - - - - | 0.531 0.531 [0.664 [0.300] 0 O
1.00 0.265 - - - - | o0.265 0.265 [0.265 [0.300] 0
G| 1.20 0.023 - - - - | 0.027 0.027 ]0.023 |0.300 | 13
i 11000 1.40 0.015 - - - - ]0.022 f, 0010022 [0.015]0.300| 14
1.50 0.013 - - - - | o0.020 0.020 [0.013 [0.300 | 15
1.20 0.023 - - |1.000 |0.243 | 0.245 0.245 [0.023 [0.300 | 13
W= 1.40 0.015 - - 11.000 |0.250 | 0.251 0.251 |0.015 |0.300 | 14
1.50 0.013 - - [1.000 |0.252 | 0.253 0.253 [0.013 [0.300 | 15
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